_Jjob
b

(=) +{(+16.2)+(-6.2)

(=7)+(+10)

(-7)+(+16.2)+(-6.2)
=+3

(+16.2)+(=7)+(-6.2)

I~

ol

i~
Tol
el
o
A
™

—

X
i
o
E!
o
Zh
RS

QS

NI
et
o
E]
T

A

Mo
i~

Bl
o
4

—

_2_|
ol
T
or

=
Mo
I~

hI
o
r

i~
Tol
el
o
za
™

I~

G
w
4
ol
El

Ho

S0 ek
L5

7) 7t (+16.2) 7} A=) BHE

b (
(Hh (

=

s

Z
)

WA U Aol 2%

=
=

16.2) ¢} (-6.2)

+




&% T 4 22x3, 20x3x52 O] ARFOS HA TS Aol

st=7 vrebd 22

D 2x3, 22x3x52 (@)22x3, 23 x 3 x52
® 23 x3, 25x3%x52 @ 22x3, 23x3%x52

® 2x3, 2x3x%x5

e
&

HARFoFrE FEY 2005 F A57H AL L B2 o
web FHojBoRAE 22 x 3 o]tk

£ 2015 3 47k 2AG 2 &2 g5t
g

Sto] Batch. webA] Hagulst

==
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